To the left...

Step 1: Place
your two X10 = 1 space
decimals

4 Step 2: Move x100= 2 spaces

each number In
turn to the left
with the correct
number of
spaces

0 : !34 Step 3: Remove
| unnecessary
3 1 Zeros, or add

place holders If
needed

0.004x100

x1000= 3 spaces

0.234x100 2




Step 1: Place To the right...
your two

decimals

O 4—1 00 Step 2: Move +10 = 1 space

each number in
turn to the left +=100= 2 spaces

with the correct
number of
spaces

+1000= 3 spaces

Step 3: Remove
unnecessary

. Zeros, or add
2 3 .4‘T 1 00 a4 place holders i
needed
0,234




345 x 27 ' 3 49

3 4 5 X 27
Sy 2415

2415

2 415 1 6900
3 3 Step 2: Aad a zero to the next row

Step 1: Multiply the ones by each because you are multiplying by a tens 9 3 1 5
1

of the top row. Carry when you number Multiply the tens by each of the top

need to but don't forget to aad row. Again... beware carrying
them each time Step 3: Add up the numbers




6 6-0.35|]6.3+1.456(]|2.6-0.3
LY
_oll35 5%'0
- 01]3 5

Step 1: 3 Decimals Step 2: Place 5 6 5

and a sausage. One AuMmbers on
IS for your answer
Step 3: Add place
holders and
calculate




Year 6 Maths Revision Cards

Two Fractions

Example : Simply
multiply top number and
bottom numbers

Mixed Number and
Fraction

Step 1: Convert mixed
number into Improper

Step 2: Multiply top and
pbottom numbers

Multiplying Fractions- 1




Whole Number and
Fraction

Step 1: Convert mixed
number into Improper

Step 2: Multiply top ana
bottom numbers

Step 3. lum improper
answer back to mixed
number




.« s Adding and Taking Fractions with Different
Year 6 Maths Revision Cards Denorminators. 1

Step 1: Different
Denominators
find lowest
common multiple

Step 2: Turn fractions inte equivalent

Step 3: Calculate with the new
fractions with the new denominator so both

fractions
fractions now have the same denominalor




Year 6 Maths Revision Cards

Adding and Taking Fractions with Different
Denominators- 2

step 1: Different 4 3 8

Denominators
find lowest

common multiple 6
)

Step Z2: lTurn fractions inlo Step 3: Repeal for the other Step 4: Calculate the new fraclions
equivalent fractions with the fraction

new denaminalor




Step 1: Different 31619112115118121@

Denominators
find lowest

common multiple 8 1 6
]

_ Step 2: Mixed '“”T‘t”" _1“ Step 3: Repeal for the other
improper. Turn fractions into
equivalent fractions with the

Step 4: Calculate the new fractions
fraction

new denominator




Adding and T?]Pcei:ngnl:ir:::;ur:iawith Different
Step 1: Different 3!619!12!15!18121 e’

Denominators
find lowest

common multiple 8 1 E'S Step 4; Calculate the new fractions
’

Improper to

ap 2: Mixe ) ; : mixed
_ Step 2: Mixed ”l"f'h[-’_t” Step 3: Repeat for the other b
improper. Turn fractions into number

fraction
equivalent fractions with the
new denominator




Year 6 Maths Revision Cards

10%- Divide by 10 (One
space to the nght)

2%- Half of what 10%
Z20%- Multiply 10% by 2
25%- 20%+5%

30%- Multiply 10% by 3
35%- 30%+5%

40%- Multiply 10% by 4
45%- 40%+5%

o0%- Multiply 10% by 5
(Or Half)

990%- 50%+5%
60%- Multiply 10% by 6
65%- 60%+5%

f0%- Multiply 10% by 7
(9%~ T0%+5%
80%- Multiply 10% by 8
85%- B0%+5%
90%- Multiply 10% by 9
95%- 90%+5%

Step 3: Find 30%
Multiply 10% by 3

35% of 330

Step 1: Find 10%
10%- Divide by 10

(One space to the night)

Step 2: Find 5% 3 3

2%- Half 10%

Step 4: Find 35%
Add 30% and 5%

3 3.0
+ 16.5
4 9.5




Year 6 Maths Revision Cards
1%- Divide by 100 { Two 0
7% of 330

spaces to the rnight)

2%- 1% x 2
3.3

3%- 1% x 3

4%- 1% x 4

Step 1: Find 1%
1%- Divide by 100
0%-1% X 5 ( lwo spaces to the nght)
6%-1% x 6

[%-1% X 7

8%-1% x 8

9%-1% x 9

Step 2: Find /%
Multiply 1% by 7

Percentages- 2




10%- Divide by 10 (One 2 7 0/ f 3 3 O
space to the nght) 0 O
1%- Divide by 100 { Two

spaces to the right) Step 1: Find 10% 330 Step 4: Find 7%
10%- Divide by 10 - Multiply 1% by 7

(One space to the nght) 33 .

Step 2: Find 1%
Divide by 100

Iwo spaces to the nght -
{ b gny Step 5: Find 25%

Step 3: Find 20% | Add 20% and 7% 2

8

Multiply 10% by 2




Year 6 Maths Revision Cards

0 2 5 3 =233

34186 0 2

Step 2: Step 3: Step 4: Step 5
3ds into 345 into 345 into 345 inlo
8= 0 8= 2 180=5,  102=3

There are There are
18 10
remaining.  remaining

180

Carry the
8 over

Use column method to see what Is
remaining

Never any
remainders

Long Division

Step 1: Count 6 lots of 34, partition to
make easy. Count in steps of the tens and
the ones. S0 30s and 4s

30 +4
60 + 8
90+12 = 102
120 + 16 136
150 + 20 170
180 + 24 204

It 1Isn't usually anymore than 6




Year 6 Maths Revision Cards

Example 1

Underline the one
number afler decimal

Multiply the numbers
you can see 3xd

Ensure ane decimal
place In your answer

Example 2

Underline two numbers
afier decimal
Multiply the numbers you

can see (x4

Ensure two decimal
places in your answer

0.6 x 40
6x40=240
=24.0

Example 3

Underline the one number
after decimal

bxd=24, so bx40=240

Ensure one decimal place
in your answer

24.0 or just 24

Multiplying Decimals

Example 4
Underline the wo numbers
after decimal
Multiply the numbers you
can sea hyd

Ensure lwo decimal place in
your answer, Place holder
betore zero

0.15x 0.3
15x3=45

Example 3

Underline the three numbers
after decimal

Mulliply the numbers you
can see 15x3

Ensure three decimal places
in your answer. Place holder
beftore zero and a zero
before the 45




Step 1:

Flace numbers into a
column method. No
placeholders needed

Step 2:

Ensure decimal I1s ready In
your answer. Sausagel

Step 3:

Multiply each number by
the whole number

Don't forget the decimal In
the answer




Step 1: Tum
the whole
number into a
fraction by
putting a one
underneath it

Step 2: Keep the first Step 3: Simply multiply
fraction the same, flip the the top numbers and then
other fraction and change multiply the bottom

to multiply. (KFC) numbers




Year 6 Maths Revision Cards

52 5 5 Example 2:
X Step 1:
Multiply the

first two
numbers

— : 2 5 Step 2:
2 5 Multiply the

answer by the
final numbers

=125

Example 1: 5 squared,
means 5 imes by itself




Year 6 Maths Revision Cards

Step 1: When you
have mixed
operations. Wnte
BIDMAS down the
side. lick off and
complete in order
Brackets
Indices (&.g. squared/cubed)
Division
Multiplication

Addition

Subtraction

=44

Example 1
MNo brackels, so deal with the Indices firsl. 5 squared
Mo division, so next do the mulliplication

MNext the addition, and finally the subtraction

BIDMAS: Order of Operations

Example 2
Brackels first. No indices
MNo division, so do the multiplication

Finally, sublract




